Math 1316 Maskery Quiz 3 (Veseud
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September 20, 2022

ANsweR KEY

Please show all your work for all problems, and write your final answers in the boxes.

1. The ray coming out of the origin at angle « intersects the unit circle at a point (z,y) and has a slope
m, as in the following diagram. Give the six trig functions of « in terms of z, y, and m. [Note: There’s

multiple correct answers for some of these, but I'm only asking you to give one.]
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9 The ray going out from the center of the unit circle at an angle @ intersects the circle at the point
5/13,—12/13). |Find sin(f), sec(d), and tan(8).
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3. An angle o is in Quadrant 3 and has reference angle 5. Suppose you know that tan 8 = 1/3. Using this
information, compute sin(a), cos(c), and tan(a). Give exact answers.
D AW o (TN (g,

sin(a) :___ 1
o _3 ( *Lf“vgfﬂf
cos(a) =
s
10
tan(a) =

Page 2



YW
Fock -

>4 soltey

wowﬁ?

P

an,Y iy

Name: /A/NSWER KET

Math 1316: Mastery Quiz 4 (Version A)

Please show all your work for computations, and write your final answers in the boxes.

1. You have a friend who is a bit of an ass and likes to play pranks. They tell you three of the six values
about a triangle, and ask you to com-pﬁ'gthe remaining three. You suspect they may be trying to trick
you by giving you values that don’t uniquely identify a triangle. Without doing any calculations using
the laws of sines and cosines, how would you check whether what they gave uniguely identifies a triangle?
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2. Find all missing angles and sides on the following triangle. Round your answers to two digits past the

decimal point, and give angles in degrees. N,e e i ‘Iv w
S s Gl P ¥

(0

1o

smP _ sm 80° R
T Sagze

Y
O

Ao

B — 4
—

140 sm{c®
s "oz
ats 6.53

b d/o

a=

——

= b o T g
i 3 Elpcls
F= s mg0°

b 5.7



of length 8 with a 120° angle between them, and two sides each of
gle a between the sides of length 10. Round you answer
[Hint: A quadrilateral is just two triangles joined together.]

3. A kite consists of two sides each
length 10, as in the below picture. Find the an
to two digits past the decimal point.
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